MAP 2302 — QUIZ 4 — SPRING 2014

:( ) [2 s Comptekt .

7o < ofve fhe Arnoar efueﬂ'otv %)

dy tx.l (z (%),
S+ pogm g 00

6‘) e far.sf lel: e

LX) = € ,
where

r
Pex) = [ 40) de
-

(1) Therr we onlbply both sides of ow) ‘7A’(L)

ard  weite & Mw’l‘gg eg.«-v{auf

4 f/vmﬂ’ | = /ﬂ*)ff’?)

G \= == = == L ===

(11]) Ao jlnem/ Colihen of rw) Is
4:v-!n %

LS Lt oot )
u"f"/u(n)///u /

- 5

n—,--—-_—_ﬁ

J A
er ( /S day cmSTenl

- = ——-— gy - - Sy, SR S G, __apmy gy AR

(2) ] 3 poats) Solve the L VP

3 - L
ac_j:(ﬁ e 4-.%:"‘?)&,, fjf'.)'.;-.-




(P2

= .-;fb//—‘?/t") aﬁ/ X0, (x)

Lt Pons [ 2ipe 4box  (fo x5 &

p)= € =@ a Xl Aie molhiph bothsites

" 9% é"%’*”? =) (§ 52

el
4 (x*ty)= x%&y + 4xdy
d/(_ \ d-j !h
(Mo 2 (xly) = 230-1)
NP &
J‘(a - f;c‘(l— -7x3)c‘z -fx3— ?k‘cll
(V)(-?\ J("J_ 2 _:_r_"' .----;c:"~ -t C} dee Cls
4% (CM.SJlmf-
Yo =4, L+ = d-1+4¢C Rc</
J L '
fleva 7y = ¥ 5+ T &

= L [__{‘I—Z?‘H) ,ﬂ.« X>0
G |74

is le ex'ﬁ/;'r- '}'550/2!. .




